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7.4 / 10 points
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7 / 10 points
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Frequently missed questions

Question Correct responses

During the formation of the peptide bond which of the following takes place? 11 / 25

The centrifugation is based on the principle of when a force is less than the gravity desired. 6 / 25
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A nucleoside is composed of

23 / 25 correct responses

What is the minimum number of hydrogen bonds that operate between base pairs in DNA?

24 / 25 correct responses
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base + phosphate

✓ base + sugar

base + sugar + phosphate

none of the above

0 (0%)0 (0%)0 (0%)

23 (92%)23 (92%)23 (92%)

2 (8%)2 (8%)2 (8%)

0 (0%)0 (0%)0 (0%)

0 5 10 15 20 25

✓ 2

3

4

5

24 (96%)24 (96%)24 (96%)

1 (4%)1 (4%)1 (4%)

0 (0%)0 (0%)0 (0%)

0 (0%)0 (0%)0 (0%)

Blank Quiz

Questions Responses 25 Total points: 10

https://accounts.google.com/SignOutOptions?hl=en&continue=https://docs.google.com/forms/d/1mtRQVxSYtc-wzCjqCFgLBQeDB-z4mrbmgMaBwMJB5GM/edit%3Fusp%3Dredirect_edit_m2


What is the wavelength range for UV spectrum of light?

15 / 25 correct responses

How can the DNA fragments be separated from DNA?

25 / 25 correct responses

RPM stands for

23 / 25 correct responses

0 5 10 15

400nm to 700nm

700nm to 1mm

0.01 nm to 10 nm

✓ 10 nm to 400 nm

9 (36%)9 (36%)9 (36%)

1 (4%)1 (4%)1 (4%)

0 (0%)0 (0%)0 (0%)

15 (60%)15 (60%)15 (60%)

0 5 10 15 20 25

Crystallization

✓ Electrophoresis

Distillation

Zone melting

0 (0%)0 (0%)0 (0%)

25 (100%)25 (100%)25 (100%)

0 (0%)0 (0%)0 (0%)

0 (0%)0 (0%)0 (0%)

0 5 10 15 20 25

Round per minutes

Right per minutes

✓ Revolution per minutes

None of the above

0 (0%)0 (0%)0 (0%)

0 (0%)0 (0%)0 (0%)

23 (92%)23 (92%)23 (92%)

2 (8%)2 (8%)2 (8%)

Blank Quiz

Questions Responses 25 Total points: 10

https://accounts.google.com/SignOutOptions?hl=en&continue=https://docs.google.com/forms/d/1mtRQVxSYtc-wzCjqCFgLBQeDB-z4mrbmgMaBwMJB5GM/edit%3Fusp%3Dredirect_edit_m2


What are the following is not a factor responsible for denaturation of proteins?

16 / 25 correct responses

Unfolding of a protein can be termed as

25 / 25 correct responses

During the formation of the peptide bond which of the following takes place?

11 / 25 correct responses

0 5 10 15 20

pH change

Organic solvents

Heat

✓ Charge

1 (4%)1 (4%)1 (4%)

8 (32%)8 (32%)8 (32%)

0 (0%)0 (0%)0 (0%)

16 (64%)16 (64%)16 (64%)

0 5 10 15 20 25

renaturation

✓ denaturation

oxidation

reduction

0 (0%)0 (0%)0 (0%)

25 (100%)25 (100%)25 (100%)

0 (0%)0 (0%)0 (0%)

0 (0%)0 (0%)0 (0%)

0.0 2.5 5.0 7.5 10.0 12.5

✓ Hydroxyl group is lost from its
carboxyl group of one amino acid
and a hydrogen atom is lost fro…

Hydrogen atom is lost from its
carboxyl group of one amino acid
and a hydroxyl group is lost fro…

Hydroxyl group is lost from its
carboxyl group of one amino acid
and a hydroxyl group is lost fro…

Hydrogen atom is lost from its
carboxyl group of one amino acid
and a hydrogen atom is lost fro…

11 (44%)11 (44%)11 (44%)

7 (28%)7 (28%)7 (28%)

7 (28%)7 (28%)7 (28%)

0 (0%)0 (0%)0 (0%)
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A tripeptide has

17 / 25 correct responses

The centrifugation is based on the principle of when a force is less than the gravity desired.

6 / 25 correct responses

0 5 10 15 20

3 amino acids and 1 peptide
bond

✓ 3 amino acids and 2 peptide
bonds

3 amino acids and 3 peptide
bonds

3 amino acids and 4 peptide
bonds

0 (0%)0 (0%)0 (0%)

17 (68%)17 (68%)17 (68%)

8 (32%)8 (32%)8 (32%)

0 (0%)0 (0%)0 (0%)

0 5 10 15 20

True

✓ False

19 (76%)19 (76%)19 (76%)

6 (24%)6 (24%)6 (24%)
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